



somma di tre frazioni

Nome: _____

Data: _____ Punteggio: _____

$$\frac{1}{3} + 1\frac{2}{3} + \frac{3}{7} =$$

$$\frac{3}{6} + \frac{3}{9} + \frac{4}{8} =$$

$$\frac{6}{9} + \frac{5}{6} + \frac{1}{9} =$$

$$\frac{6}{5} + 1\frac{1}{6} + \frac{4}{8} =$$

$$\frac{3}{2} + 2\frac{1}{2} + 2 =$$

$$\frac{2}{8} + \frac{3}{9} + \frac{2}{5} =$$

$$\frac{7}{8} + \frac{4}{8} + \frac{1}{8} =$$

$$\frac{4}{7} + \frac{7}{6} + \frac{6}{4} =$$

$$\frac{6}{8} + \frac{6}{7} + \frac{7}{5} =$$

$$\frac{5}{9} + \frac{2}{4} + \frac{1}{7} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\frac{1}{3} + 1\frac{2}{3} + \frac{3}{7} = \frac{17}{7} = 2\frac{3}{7}$$

$$\frac{3}{6} + \frac{3}{9} + \frac{4}{8} = \frac{4}{3} = 1\frac{1}{3}$$

$$\frac{6}{9} + \frac{5}{6} + \frac{1}{9} = \frac{29}{18} = 1\frac{11}{18}$$

$$\frac{6}{5} + 1\frac{1}{6} + \frac{4}{8} = \frac{43}{15} = 2\frac{13}{15}$$

$$\frac{3}{2} + 2\frac{1}{2} + 2 = 6$$

$$\frac{2}{8} + \frac{3}{9} + \frac{2}{5} = \frac{59}{60}$$

$$\frac{7}{8} + \frac{4}{8} + \frac{1}{8} = \frac{3}{2} = 1\frac{1}{2}$$

$$\frac{4}{7} + \frac{7}{6} + \frac{6}{4} = \frac{68}{21} = 3\frac{5}{21}$$

$$\frac{6}{8} + \frac{6}{7} + \frac{7}{5} = \frac{421}{140} = 3\frac{1}{140}$$

$$\frac{5}{9} + \frac{2}{4} + \frac{1}{7} = \frac{151}{126} = 1\frac{25}{126}$$